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n 40°
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180° — (40° + 90°) = 50°
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22+30°
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2x + (x—10°) = 2x + 30°
3x —2x = 30° + 10°
Soox = 40°
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x° = 180° — 95° = 85°
y° = 180° — 90° = 90°
wy—x=90°-85°=5°
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32°+45°+(180°-125°)+(180°—131 °)+x+40°+52° = 360 °
wtatA x = 87 o]t}
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@ 460° @465° ® 470° @ 475° O 480°

35° + 40° = /H + /I ©]|t}.
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@® 180° @ 270° (@)360O
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/b+ /f + 2d = 180°
la+ /c+ Le = 180°
La+ b+ Le+ Zd+ Le+ Lf = 360°
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/DBC + /DCB = 230° +2 =115°
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Za = 30° + 40° = 70°
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@® 2160° @ 2340° ® 2520° @ 2700° @2880°

a = 180° x (8 — 2) = 1080°
b =180° x (12 — 2) = 1800°
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@ 400° @440° ® 540° @ 6000  © 720°

27y o] W Z+o] k-2 540° o|tt,
w2tA zA + /B + £C + /D + (E + /F + /G = 540° 0| B2
(B + /C+ /D + (E + /F + £G = 440° ©]t},
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